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1.1 2 Z(cartesian) ZtHE A

Cartesian JEZ=




1.1 2 Z(cartesian) ZtHE A

y =
A
y
A
A 2AHEE A 1A}
x<0, v 0 x,0, v, 0
y [ * P(X, Y) x>
0
g A 3AHEE A4 A A
0 X =R x{0, y<0 x>0, y{0
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1.1 21 Z(cartesian]) X H Al nxEst

the 2 A X AR Ex AuHS Uehla, 49 A wAlsel:

1-1
% (1) (2,0) (2) (0,0) (3) (2,-1)
(4) (—1,3) (5) (1,1) (6) (0,-1)
solution y
(-1.3) g 3
2
] — o (L1
2, 0)
1 ()‘ | ,2 -
1 S ——— itz* 1)
{0, -1




1.1 2 Z(cartesian) ZtHE A

GIMI 1-2 = p(2,3) S Fxadd e, ofw & Qo rd Talo] AR pQ 9 PR o] 7}
% 2 %3 y %ol ofsle) 25RAdT @ ), W oo ko) AuE ool

solution A
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1.2 8= (function)
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1.2 8= (function)

e Bl==(function) &= A& (mapping) :

e Ay

HE A

792123 (domain)
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%3(codomain)




1.2 8= (function)

e t=(function) : X2 Zt 4 x0il (HOIO Yoto] @ X! ot J| 9
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1.2 8= (function)

o Bt f: X > YO LHOIOY
XO| &4 x0l (H20t= &gt Yol AAE y=f(xX)= LEHHO,
OIA S O] xOIAC] B =aklvalueldtdl StLL.

e X|%(range] : &l XOto| = A4 x0l HSt St==ak

9|

rin

iba
¢

o Z2 X0UIM Y=2 &= y=f(xI0l CHOIGd

X& =g H==(independent variable)

yE =W (dependent variablelOl 2t BtCt.




1.2 8= (function)

o X:
oY:

oy =

MOl ([domain)
o
aHA (codomain)
o
f(X) : XI (range)
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1.2 8= (function)

ORI 1-3 oy T2l TS

solution

101 S > &=0IL.
d9o|%{ X ={a b, c, d}
WY Y={1,23 45,6}
XY (X = {2, 3, 4, 6}




1.2 8= (function)

oiFl 1-4 2=0IM S2k= Us &2 JHEE 1dct
My=x-1 [2ly=x2-1

solution y

B
-

(x,x2-1)

y=x-19] 1 y=x2-19| Jai=x




1.2 8= (function) xSt

o t'A 4 (injective function) EE= &EHE &4 (one—to-one function) :
e f: X 2> Y 9N x1x= x2 O1FF f(x1) = f(x2) &' &4
=, MZ FIE x°l EH°I° yud©| MZ EIE o

o MAIZL(surjective function) EE= 2122 &4 (onto function) :
219311 R|230| LX[Ot= FL

o™ 14 (one-to-one

MEA IS4 (bijective function) EE= &EHE B
+
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1.2 8= (function)

CHAFSES, MASHS, FCHAJSEA D
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(20f:RB+ >R, y=MX)=X2 |vyesmeioryol et 22 > margs
B1f:R+ > R+, V=flX) = X2 | TAILROCIEA EARUALITN > MEMUS
solution

% : ¥

f:R->RQU B f:R* > RO &L f:R*> R*QA ER
(MALS (EALIE ] (MEAIS)




1.2 8= (function)

CESk x1 < x2 & Y

(1) =S J1et2=(increasing function) > f(x1] < f(x2)
(2) XS Je4=(monotone increasing function) = f(x1) < f(x2)
(3) Z A 8t=(decreasing function) > f(x1] > f(x2)

(4) XA t=(monotone decreasing function) = f(x1] > f(x2)

y y
A




1.2 8= (function)
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_1 _2 | i | |

| i > X : i 1
i 0 1 2 T =-I[x]
;—_1 f(x)=I[x] I E— 0 1 9 > X
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